

۲۵

$Y \times V = \mathbb{C}P^1 \cup \infty$

$$\therefore \left(\frac{\sqrt{2} + \sqrt{5}}{\sqrt{10} + 1} \right) (\sqrt{2} - \sqrt{5}) (\sqrt{2} - \sqrt{5}) = 2 - \sqrt{10} + \sqrt{10} - 5 = -3$$

$$\frac{\sqrt{2} + \sqrt{8}}{\sqrt{5} + 2} \times \frac{(\sqrt{11} - 2)}{(\sqrt{11} - 2)} = \frac{\sqrt{2}(\sqrt{11} - 2) + \sqrt{8}(\sqrt{11} - 2)}{(\sqrt{11} - 2)^2} = \frac{\sqrt{2}(\sqrt{11} - 2) + 2\sqrt{2}(\sqrt{11} - 2)}{(\sqrt{11} - 2)^2} = \frac{3\sqrt{2}(\sqrt{11} - 2)}{(\sqrt{11} - 2)^2} = \frac{3\sqrt{2}}{\sqrt{11} - 2}$$

$$30 \text{ مس) } \omega \quad \sqrt{1 + \sqrt{2}x(\sqrt{5} + \sqrt{6})}(\sqrt{9} - 1) = 1$$

$$\frac{5 - \sqrt{9}}{19} \times (\sqrt{5} + \sqrt{6}) \quad \rightarrow \quad \frac{-2 \times \sqrt{9} + 1}{19 - 1 \times \sqrt{9} + 1} = \frac{-2\sqrt{9} - 2}{2} = -\sqrt{9} - 1$$

$$\frac{1 \cdot \sqrt{9} + 10 \cdot \frac{5 - \sqrt{9}}{19} + 9 \cdot \sqrt{9}}{19} = \frac{19\sqrt{9} + 10 \cdot \frac{5 - \sqrt{9}}{19} + 9 \cdot \sqrt{9}}{19} = \sqrt{9} + \sqrt{9}$$

$$\sqrt{9} + \sqrt{9} - \sqrt{9} - 1 = (\sqrt{9} - 1)$$

۴ سوال) $\frac{\sqrt{1+\sqrt{3}} + \sqrt{\sqrt{3}-1}}{\sqrt{\sqrt{3}-\sqrt{2}}} - 2$ $\frac{(\sqrt{1+\sqrt{3}} + \sqrt{\sqrt{3}-1})^2}{\sqrt{\sqrt{3}-\sqrt{2}}} = \frac{1+\sqrt{3}+\sqrt{3}-1+2\sqrt{2} \times (\sqrt{3}+\sqrt{2})}{\sqrt{3}-\sqrt{2} \times (\sqrt{3}+\sqrt{2})}$

$$\frac{\sqrt{5} + \sqrt{5}}{1} \times (\sqrt{5} + \sqrt{5}) = \sqrt{\frac{2(\sqrt{5} + \sqrt{5})}{1}} = \sqrt{2} \cdot (\sqrt{5} + \sqrt{5}) = \sqrt{5} + \sqrt{5} = \sqrt{5}$$

ب) $\sqrt[4]{\sqrt[3]{12}} \times \sqrt[3]{12} \times \sqrt[3]{12}$

$$\omega(\text{new}) = \frac{\psi^q + \psi^{q+1} + \psi^{q+2} + \psi^{q+3} + \psi^{q+4}}{\psi^{q-1} + \psi^{q-2} + \psi^{q-3} + \psi^{q-4} + \psi^{q-5}} = \Delta\psi = \frac{\psi^q (1 + \psi + \psi^2 + \psi^3 + \psi^4)}{\psi^{q-1} (1 + \psi + \psi^2 + \psi^3 + \psi^4)} = \Delta\psi$$

$$\begin{aligned} u^n \times v^m &= u^n \times v^m \\ u^n &= v^{n-1} \times u \\ u^n &= v^{n-1} \times u \\ u^n &= v^{n-1} \times u \end{aligned}$$

$$(a^2 + b^2 - 2ab)^2 (a^2 + b^2 + 2ab)^2 = t(1 - \sqrt{t})$$

سوال ٩٢

$$((a^2 + b^2)^2 - (2ab)^2)^2$$

$$(\sqrt{4-t} + \sqrt{4+t})^2$$

$$\sqrt{4-t} - \sqrt{4+t} + \sqrt{4-t} + \sqrt{4+t} = 2\sqrt{4-t} = t(1 - \sqrt{t})$$

$$t = 16$$

$$2\sqrt{4-t} - 16\sqrt{t} = t(1 - \sqrt{t})$$

$$2\sqrt{4-t} - 16\sqrt{t} = t(1 - \sqrt{t})$$

$$(a + \frac{1}{a} + \sqrt{t})^2 (a + \frac{1}{a} - \sqrt{t})^2 = t^2$$

سوال ٧٧

$$((a + \frac{1}{a})^2 - (\sqrt{t})^2)^2$$

$$\sqrt{4-t} + \frac{1}{\sqrt{4-t}} + \sqrt{t} = \sqrt{4-t} + \sqrt{t} + \frac{1}{\sqrt{4-t}} = 4 - 2\sqrt{t}$$

$$t = 16$$

سوال ٨١

$$A = \sqrt[10]{\frac{1}{t}} \left(\frac{1}{t}\right)^{\frac{t}{10}}$$

$$\frac{1}{t} \cdot \frac{1}{t} \cdot \frac{1}{t} \cdot \frac{1}{t} \cdot \frac{1}{t} \cdot \frac{1}{t} \cdot \frac{1}{t} \cdot \frac{1}{t} \cdot \frac{1}{t} \cdot \frac{1}{t} = \frac{1}{t^{10}}$$

$$\left(\frac{1}{t}\right)^{\frac{1}{10}} = \sqrt[10]{\frac{1}{t}} = \frac{1}{\sqrt[10]{t}}$$

سوال ٩٠

$$\sqrt[10]{a} = 10 \times \frac{10}{a} \Rightarrow 1 = 10 \cdot a^9$$

$$a^9 = \frac{1}{10}$$

$$a = \frac{1}{\sqrt[9]{10}} \quad \frac{1}{a} = \sqrt[9]{10}$$

$$\frac{3\sqrt{t} - 4(1-\sqrt{t})}{1 + \sqrt{t} \times (1-\sqrt{t})^2}$$

$$\frac{3\sqrt{t} - 4 + 4\sqrt{t}}{1 - t} = \frac{7\sqrt{t} - 4}{1 - t}$$

$$\sqrt{m+a} - \sqrt{m-a} = 2$$

سوال ١٠٠

$$A + B = -2$$

$$B + B = 0$$

$$2B = 0$$

$$2\left(\frac{a}{t}\right) = \frac{a}{t}$$

$$A - B = 2$$

$$(A+B+2)$$

$$A' = B' + 2 + 2B$$

$$B = \frac{a}{t} \quad a = tB$$